Subject: Re: buggy dictionary
Posted by dg86 on Mon, 08 Jun 2015 15:12:11 GMT

View Forum Message <> Reply to Message

On Monday, June 8, 2015 at 10:49:14 AM UTC-4, Fabien wrote:
> On 06/08/2015 04:15 PM, Helder wrote:

>> Please save everything before trying it!

>>

>> |DL> a = dictionary('b',dictionary('c',findgen(10)))

>> |IDL> a.b['c',1:-1]

>>
>> ... bye bye IDL

>

> Nice! Crashes IDL on my 64b Linux machine, too.
>

> Cheers,

>

> Fabien

Same is true for MacOS. Attempting a slice with a negative index gives the
correct answer, but leaves IDL churning. After a few seconds, IDL crashes with
Segmentation fault: 11

Cool!
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